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Question Number : 1 Question Id : 8321474601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fossils are most commonly found in which type of rocks?
Bereren G RPFREnoT Q) 408° EdhRan?

Options :
Igneous rocks
- ©f)doe
Sedimentary rocks
= N
OITD o
2.
Metamorphic rocks
Srarosd doen
3. %
Volcanic rocks
) \“‘r e e
L BHROS Soen

Question Number : 2 Question Id : 8321474602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Water vascular system is present in
BOYIBE YN SOAJD
]
Options :
1. %



Brachiopods
ERRE)

Echinoderms
JES*EG)

=
2.
Pelecypods
DOVDE)
3. %

Ammonoids
@E;:ﬁéaﬂox&.
[3.%)

Question Number : 3 Question Id : 8321474603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The shell of a Brachiopod consists of
EPEDPEEE GnZ) Y BOP Botnod
Options :

Two equal but inequilateral valves
Both Jdredore @ond Jkrdo 2R P9 Teed

1. %

Two equal and equilateral valves

Both Jedore Hdckn DR &Y Teed
2. % }

Two unequal but equilateral valves

Bo 3500 o2 ®ond JSXPS &Y "Trew
3.

Two unequal and inequilateral valves
Both 3380 2R DBA J5edo SR Y Teen



Question Number : 4 Question Id : 8321474604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The lamelhbranchs are also described as
PO oE )0 Ber Eree SoS HRRD

Options :
Pelecypoda
- 2

- 2D
Acephala

, x ©RFrO
Didisoconch
ledetileilotn)

3. %
Dibranchs
Gleeoby

4, % EETOR

Question Number : 5 Question Id : 8321474605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The last segment of a trilobite 1s
BEFer Tk D8 Darrisn

Options :
Glabella
- rder
1, % 8T
Thorax
=~ _E-._
5 % 5"1:?1]



Telson

_ 8I3S
3. %
Pygidium
DB
4.

Question Number : 6 Question Id : 8321474606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Heart shaped test 1s found in
T3HBAPE EHI0 J0HE® BetsH?

Options :
Nautica
- e
1. %
Calymine
ot DVl
2.% % 7
Micraster
b= sle)
3.4 T8
Cidars
-3 =
g x N0

Question Number : 7 Question Id : 8321474607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Spirifer belongs to which phylum?
QBDB @ POND TohIR?

Options:
1. %



Protozoa

DIFS
Mollusca
SO

2.¥ &
Brachiopoda
evdelonviloilal

3. %
Arthopoda
Elojgoale

4. % 4

Question Number : 8 Question Id : 8321474608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which geological period 1s most commonly associated with graptolites?
LA FREE o §X68 Sowohodid?

Options :
Ordovician
@bé&)i}d‘JS

Permian
_s':.':@é{:ﬁjs

Cambran
ZoDoHS



Question Number : 9 Question Id : 8321474609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gangamopteris 1s distinguished from Glossopteris by
Kor3reHBBD » dRcHos® ERFROID PJore &otnod?

Options:

esence of midrib
| » SHGT ZOA eokdo

Presence of spine
MR 5OA esoiio

Absence of midnb

DES BEESEo
4,

Question Number : 10 Question Id : 8321474610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The fundamental unit of Litho-stratigraphic classification 1s
BePo éﬁ D% Sorerord DgrEian

Options :
Super group
(e Sdom=cho

Group

T CN0
2. %

Formation

- é'}aﬁa:’:aﬁw



Member

wolate)
4, %

Question Number : 11 Question Id : 8321474611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who proposed the concept of Uniformitarianism in 17857
17856° D568 Hoed drposR) (HBFRH0NRG SK?

Options :

Charles Lyell
00 ©0HS

1, %
James Hutton
Ean;] SR

2.¢ =
Alfred Wegener
wd(E IBVIE

3, %
Charles Darwin
=00 &PONS

4. % £

Question Number : 12 Question Id : 8321474612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s the oldest era?
Bod &S D& Hookd Swirio?
Options :
Paleozoic

2OIBrSanE
1.9



Mesozoic
B stonE

Cenozoic
IS o0t

Archean
eHohe

Question Number : 13 Question Id : 8321474613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following rock system in India 1s also known as storehouse of minerals?
USRS O S 0% ol GromrrYom A0ArS?
@

Options :
Archaean rock system
8dhR Ber R

= by

1.%
Dharwar rock system
Trond Ber 330850

2. ~ = e
The Cuddapah rock system
56D S R

3. % ¥
The Vindhayan rock System
Qo] der IRl

4 ® -t - [

Question Number : 14 Question Id : 8321474614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Shape of the Cuddapah Basin is
5ED 50rm0 O eFBS Gotnod?

Options :
Linear
. Sa%
Concave
, x  REFSO
Oval
Dlelnyietle
3. %
Crescent
afel[akzlelspisile!
4.

Question Number : 15 Question Id : 8321474615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kolamnala shale belongs to which rock system?
Sodde S D B HHPS Bods?

Options :

Kurnool system
Slebaloy %ﬁ‘%

1.%
Vindhyan system
Dotsr] DD

2. % 52 F

Cuddapah system

K% SS%
3.V =8



Delhi system
&8 Jr5%
4. % v

Question Number : 16 Question Id : 8321474616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which of the formation does coal occur?
2 Ber SdooerchHos® & 0K0b?

Options :
Barakar
ajeiicle]

1.

Panchet
SN0

2. %

Mahadeva
250D

3, %

Vempalhi
0N

4, ® o

Question Number : 17 Question Id : 8321474617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The correct age of the Jurassic period in Kutch 1s
=] alale TP E SPeRNG GB) H0HIY

Options:

50 million years old
50 L0OHS JoRLoeen
1.%

2. %



100 million years old
100 0OHS Sodsoee

150 million years old
150 S0OAHS Sodoeen

3.v
200 million years old
. 200 HOADS JodS oeew

Question Number : 18 Question Id : 8321474618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Deccan traps formed during the period
GER 18rR) 28 \E sce0?
L) [y [ ¥ )

Options :

End of the Cretaceous period
BBRADHT NG DSES°
1.4

End of the Upper carboniferous period
DS TTHIDER NG OIS

2. %
Start of the Permian period
OIS 0NN (@rBod o0
3. % =
Start of the Eocene period
BaBrRS oHd (F8oy eod
4. ®

Question Number : 19 Question Id : 8321474619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Eparchean unconformity separates
AR&PGIENS RN AT LA IB TKQPH?
Options :

Vindhyan from Satpura
33::655536: ;ﬁ'ﬂéo;ltﬁ Sood)

1. %
Nagar1 Quartzites and Archean granite
Hr8 =BT HBA%Hw BN (Sl
2.¥ e
Kurnool from Cuddapah
Bomens 560 SHod
3. % T
Delhi from Aravali formation
EDQ TRl Hod
4. ®

Question Number : 20 Question Id : 8321474620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Shahabad Limestone belongs to
23Perld DHRorow 2 SJTEAERRE Iobde?

Options :

Penganga Group
Folalela s brvilaslovile

Sullavai Group
oYaEon JR0TPADNo

Bhima Group

H% SSworabo
3.¢



Badami Group

STPTRAD [ENTECN0
4. %

Question Number : 21 Question Id : 8321474621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The deposits which form after the formation of host rock is
2 Agaren e8¢ doe JB)ED Sdard ofTron?

Options:
Syngenetic deposits
DEcrends JTaren

1. #® .
Sedimentary deposits

= R -

©IgS Jgaren

2. %
Epigenetic deposits
aSs o OESren

3.4 TES =
Metamorphic deposits
Srarosd Qgaren

4. %

Question Number : 22 Question Id : 8321474622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ore 1s a
Py ©Id

Options:

Mixture of metal and non metal
o 85w SIBErS ShlBwo

1. %



Mixture of metal and waste matenal
S0 0805w iﬂg L’*mﬂg H(FNo

'

Mixture of non-metal and waste matenal
&0 B Y D w(FHo
i @

3, %
Mixture of useful and unwanted matenal
DVEIT) Dordo B JIVETD émﬂg So(E00
L o
4, &

Question Number : 23 Question Id : 8321474623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ore of Lead 1s
oG GnZ), TrSHD

Options :
Pyrite
Falelv]

1. 23 et
Galena
Rde

2. ¥
Baryte
— &

3 S08
Magnetite

L u PR

Question Number : 24 Question Id : 8321474624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Kudremukh in Karnataka 1s famous for
EpeseR HIBS0E B8 (H2Y?
f== ]

Options :
Manganese deposits

Evbilolat)Sh w..a;;@"'@
iy
1. %

Iron deposits

[Imenite deposits
e 8T OE Soey

Gold deposits
Do) JZaren

—

Question Number : 25 Question Id : 8321474625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Abrasive mineral 1s
@é?’g}ﬂﬁﬂﬁ P20

Options :
Talc
el

1. % e
Clay

2. % &=
Corundum
EPBoo

3.



Apatite
©HBeT

Question Number : 26 Question Id : 8321474626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Quartz 1s used 1n the manufacture of
55X TR0 A5t TOHTRE Tee~d?

(=]

Options :
Rubber
L. SR
Paints
Boroen
2. %
Plastic
arhE
3.8 T
Glass
4o T

Question Number : 27 Question Id : 8321474627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The most common reservoir rock for petroleum is
DETPOHDD JoreoDEI dven 2D?

Options :

Limestone

. SUS\ES leilery
1.

2. ¥



Sandstone

2 NETEON
Shale
3. % =S

Conglomerate
Soreshoed

Question Number : 28 Question Id : 8321474628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The high percentage of carbon containing coal variety in India 1s
BSBI0E* O BERD ﬁ“@é’s ©b¥ TS0 55¥0 Gotnod?

Options :
Lignite
OnReT

1.%  EE

Bituminous coal
Hérdhdn T
[ ]

2. %
Peat
5
3. % i:UUJ
Anthracite
Elollalralov]
4.

Question Number : 29 Question Id : 8321474629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following is a gem stone?
Bod TES° A& BKor THwth?

Options:

Ruby
£

1. ¢ &oed)
Calcite
oo el

2, % TETe
Feldspar
=, i

. VR
Baryte
— 3

s P20

Question Number : 30 Question Id : 8321474630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

World famous Baryte deposits are present in

Vv m (A8 A T 3 AT o SNAD

@Dl B Dodd FBU Agarwn Ko ToRo B
Options:

West Bengal
LY Zorre

1. %
Tamilnadu
SeDF

2. %
Himachal Pradesh
oty s N ] @-35

3, %

4.+



Andhra Pradesh
lellalpsInt

Question Number : 31 Question Id : 8321474631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Galaxy granite 1s available in which district?
Rerd) ((P3eT D Berpd® Zoikh?

Options:
Anantapur
B el Poytel

1. %
Kurnool
56::;\_5

2. % o~
Prakasam
|Sedo

3. v
Nellore
OB

4. % ;

Question Number : 32 Question Id : 8321474632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[n which district of Andhra Pradesh, are valuable rare earth elements available 1 the beach sands?
Jods DBt eBFS Simomer so IS Fo8K O der S aEe® efiran?

Options:
Srikakulum
B==%¥o

1.4



Nellore

oy lev
Guntur
Mot
3, %

Prakasam

, Esieglcle

Question Number : 33 Question Id : 8321474633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hot molten rock material beneath the Earth’s surface 1s
:;iwﬁ%oé‘s &3 BerEderls o n

Options :
Lava

1. % TP

Magma
;e
2. "
Gysers
falsley
3. & ®
Sediment
T
L Shshele

Question Number : 34 Question Id : 8321474634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Largest Igneous form 1s
o808 vfde Srdo
]

Options :
Harpolith
6508

1. % &
Phacolith
FEOS

2. %
Chonolith
go=hbey &

3 % BIOs
Batholith

L TSOS

Question Number : 35 Question Id : 8321474635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The presence of gas cavities 1n volcanic rocks 1s known as
of)) 308° TERHIT SRYAPD © oS Ko WD

Options :

Ropy structure
5°% Qoo)eso

1, %
Columnar structure
Qozrsed Ao9)eeo

2. % =
Vesicular structure

- am"nf::;@ﬁ ijésao

4. %



Pillow structure
aiTR ?Uc?ésar::

Question Number : 36 Question Id : 8321474636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Holocrystalline texture 1s composed of
Se] :-’&c;;@&ciﬁo H0H508° doad

Options :

Crystal and glass
QEZo badw ree

1. %
Glass
e
2. %
Crystals
onEseen
3.« ¥
Groundmass
el ($Sroed
4. % =

Question Number : 37 Question Id : 8321474637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s an example of an 1gneous rock?
©f) 30 amrrdn 267

Options:
Gneiss
30

1.% 7

2. ¥



Dolernite
&°0BeT

E:}hzllse
o]

h
Ca =
(7]

Question Number : 38 Question Id : 8321474638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Granite and Gabbro are examples of which type of rocks?
P3¢ Sobcse myE D Bved emrdedn?

Options :

Sedimentary
.I—'-‘,uu:.

©NES

1. %

[gneous

o v &N

Metamorphic

BRar0sd
3. %

Volcanic

AN S
4, ® oe

Question Number : 39 Question Id : 8321474639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A vertical intrusive body that cuts across the existing rock layers 1s
&sgeorr TR $Y), a¥) Soods JenFHBow
(o e = [

Options :
Sill
1. ﬁ %5
Batholith
eS8
2.% 7
Dyke
G5
3¢5
Bysmalith
83,98
4, %

Question Number : 40 Question Id : 8321474640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the type of texture where large crystals embedded in a finer ground mass
2 Sabdod® 2y Sz, B3) $fcud® Tothiisink aotran?

Options :
Holocrystalline
Irg HB8aho

1. % T o
Porphyritic
25 BEE
Ophitic
5888

3. W iju-nl\-d



Poikilitic
aronBOEE

Question Number : 41 Question Id : 8321474641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the type of shape that Lopolith exhibits
SFOE O @5&1&@5 &otnod?

Options :

Plano-concave
Jse Jérssto

1. %
Concavo-convex
JeFrsO-Borsdo
2. %
Convex-concave
B0rsd-Rersedo
3, %
Plano-convex
RDendEe Dorsedo
4. ¢

Question Number : 42 Question Id : 8321474642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which rock type 1s formed due to stratification and lithification?
"Nq’;mééﬁo SHdcn H8HTAS H zaq}a Been

Options :

Metamorphic
sVt wilot:te



[gneous

ohy

Sedimentary
n T

v VIZD
Plutonic
i

4. %

Question Number : 43 Question Id : 8321474643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which process 1s NOT 1nvolved in the formation of sedimentary rocks?
25 OS5 80 2OEER8 HonofodR) FHEaD

Options :
Metamorphism

| v Braroddo
Weathering
= i

2w 36O
Consolidation
~ B
Ricictel:cle)

3. %
Deposition

=
ax SRS

Question Number : 44 Question Id : 8321474644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The most abundant sedimentary rock 1s
At o -.
LOAT 6y ©ITS Bow

Options :
Limestone
it Wi, -

- LORYRT=OW
Shale

2.v @S
Gypsite
2Hed

3. % =
Sandstone
Peblciorlewy)

4. %

Question Number : 45 Question Id : 8321474645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which is the smallest layer in a sedimentary sequence?
OSEHED0S® e ©8 DX T AB?

Options :

Sheet

S

Lamina

erraoaTe
2.v 9



Stratum
$lele)
i

Question Number : 46 Question Id : 8321474646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a primary sedimentary structure?
20 (D ©igD Voplclel 522507

Options :

Ripple marks
S8 e

1.
Stratification
HoRe%0
@ [}

2. %
Foliation

3 ¥ [Jeseres
Cross-stratification
©f JoeHZo

4.8 =% 8

Question Number : 47 Question Id : 8321474647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following structure forms as a result of clay drying and cracking?
203 Job Shard )T ) o WG oo 267

Options :
Stratification
PoRE0

1.8 © €



Ripple marks

S5H Hdoen
2. % 7

Graded bedding

(Be3%)S D005 Bes
3. % *

Mud cracks

20% HE DHEY
4. v

Question Number : 48 Question Id : 8321474648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s a mechanically formed sedimentary rock?
aro@Eore 28)G ©SgD dvw 29?7

Options :
Breccia
[Esie{ovhl

1. ¢ .

Oolitic imestone
&dEE JoDoeow

2. %
Shale

3. % B
Limestone
n L .

4% méd%mm

Question Number : 49 Question Id : 8321474649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which sedimentary rock reacts with dilute hydrochloric acid?
D ©555 B0 oot Hel 8 {838 adihsod?

Options :
[
Shale
1. % B
1mes
Limestone
S v mé&@mm
Breccia
DB
et )
3, % s
< el L8
Sandstone
2NETON
4, ®

Question Number : 50 Question Id : 8321474650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the rock cycle, metamorphic rocks can be transformed into
2.8 8¢ SEo8k, Erdrodt dven IO Srdhaeon?

Options :
Only sedimentary rocks
OITD Boeorr oS

Igneous and sedimentary rocks

of)) BT wITH8eeT SrED
2. ¥

Only 1gneous rocks
©f) deenre e



Only mineral deposits
e Agarenr SrE

Question Number : 51 Question Id : 8321474651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is a metamorphic rock?
Bod &E° D& Srarosd 4e?

Options :
Shale
1. % =9
Granite
2« (38
Quartzite
= B3eT
3. v o

Limestone

4 % LORYRT=0»

Question Number : 52 Question Id : 8321474652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the causes of Metamorphism
Sraross (008 e sedeeren

Options :
Change in substance
BB St

¥

1. %



Change 1n pressure
2.888° Sr8))

Change in pressure, and temperature
288, ePHSos® Sk
—_— L S
3.¢

Change 1n temperature
SRS Svilev)
4, % -

Question Number : 53 Question Id : 8321474653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following rocks 1s completely unfohated?
Bod &S D Boen P8 SnESed JosdD?

Options :
Gneiss
3
1. % =
Slates
e
2. ® _-'f-‘-}-'e“”:d
Schists
8.5
Y
3. %
Quartzite
5365
4.« =T

Question Number : 54 Question Id : 8321474654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Dynamic metamorphism 1s also known as
K880 Sraross P8 &K DB

Options :

Cataclastic metamorphism

SRl raroddo
1.¢¥

Thermal metamorphism

- 0 Srarosdo

Regional metamorphism

- (@robadh Srarosso

Local metamorphism

4w ﬁ;@ﬁ Brarosd0o

Question Number : 55 Question Id : 8321474655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which metamorphic rock shows slaty cleavage and ability to split into thin sheets?
2 Srarodd 658 4o def QRN (H880n?

Options :
Gneiss
o)
1. % =
Slate
s i
2w XY
Marble
TROTRON
3. %



Quartzite

ST
epel=lY
Gl

Question Number : 56 Question Id : 8321474656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gneiss 1s characterized by which structure?
S0 @0Z) 3Py oZnS o0 Je@ otnod?
&

Options :

Unfoliated
Snéden 89

1. %
Schistose
2. A5 ST
T
Gneissose
Qﬁﬁ
3. v
Granulose
(eRyr&cS
4. % =

Question Number : 57 Question Id : 8321474657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which metamorphic rock 1s used in glass industries?
D Erdrod 0o e JBENE® Hed?

Options :
Gneiss

R

1.% =

2. ¥



Quartzite

S T
=erOEed
Chl? )

Marble
TPOTOD

Schist
2. 5.,
4% &

Question Number : 58 Question Id : 8321474658 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0

The attitude of rock beds 1s expressed by
oo @3 I8 2 DForr SEHL?

Options:

Strike and joint

@@QQD’-_D S08C%0 Dotdhen
-

1. %
Dip and strike
N8 B Gy Lo
2.¢ >
Dip and fault
D8 b (Foso
3. %
Fold and fault
. DP Hobow 1Fodo
4. %
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Younger beds are present in the direction of the
S0 Sogoren J BIS® dotran?
Options :

Strike of the beds
NOVTEL NGB ro
] =gl

1. %
Strike and dip of the beds
QONTPY ®NFY f0 DBAL D&
2. % & =
Slip of the beds
QovTre 08
3, % * -
Dip of the beds
QodTre D&
4.+ *
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Correct Marks : 1 Wrong Marks : 0

What is the use of Brunton compass?
@008 BENN oS SITPATE?

Options :

To know rock types
doo BwE) toren SennEPIEel8

To know rock color
foe B0 SenNEPIRE

To know munerals in rocks
B pQered BenHIEE
3, %



To Measure attitude of beds

Qotore Ipdl EPodmelE
4.9 @

Question Number : 61 Question Id : 8321474661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which term describes the highest point of an upfold?
3H0E*Q I8 DT D S Deorrdd?

Options :
Hinge
;l.‘. R T L ~ LT -h
e @ Ej?_;in..& [ Dothexs
Trough
5 % &%
Crest
SON R
3.v ¥
Axis
Eslpavy)
4. % =

Question Number : 62 Question Id : 8321474662 Question Type : MCQ Option Shuffling : No
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A symmetrical fold has
PHD Heben zer ZOA Gotrow

Options :

Parallel beds only

DRSS Sodden
1. % ©



No axial plane
vEswo TROT®

An inclined axial plane
Dbren S0

3. %
A vertical axial plane
Bl ®ideo

4.4 TR

Question Number : 63 Question Id : 8321474663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Horizontal displacement between beds due to faulting 1s called
Sodore g Srodd &8 (Fodo ZOAL (XBTR) 0trd?
& -

Options :
Heave
FE) BH0
(=] =
Dip-slip
N8 -Irs
2. % =
Throw
=
3w &0
Shp
oy
00
4, %
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Faults are defined as
Fodo @ws) VBEiRo

Options :

Unconformities in rock layers
T8FBe HBHHT B0

1. %
Fractures with layer movement
Bo&® Jodos® ErED Dr0Ey

2.
Folds with high curvature
LenHes® 5088 SthHhen

3. %
Fractures with no layer movement
e Sodo BlnHos SrHEy)

4. ®

Question Number : 65 Question Id : 8321474665 Question Type : MCQ Option Shuffling : No
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What are joints in Geology?
qiwﬁ@f?@o (=280 Jothen odr

Options :

Smooth fractures with no layer displacement

el St %ﬁ;éaﬁasﬁo BdenS08 HHYH DroEY
1.4

Fractures with layer displacement
PEo&® Sodo B Dr0EY
2. %

Small faults in rock formations

Boo domos® OF) (Fodo
3 %



Inclined rock layers

Stz Bersrden
4. %

Question Number : 66 Question Id : 8321474666 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
Unconformities in rock layers are usually formed due to
DD Do ABEEPAE Ko =80

Options:
Faulting
et

- |&oso

Continuous sediment deposition
QBosSBorr ©lgho B KL

2. %

Igneous rock intrusion

o) doen S TNE"R oo
3. %

Breaks in deposition and erosion

QED0 8w (EFE (HIECHS® wodoraho
4.

Question Number : 67 Question Id : 8321474667 Question Type : MCQ Option Shuffling : No
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The age of the Earth 1s
3o SCHAY

Options :

About 5.5 billion years old

Tord) 5.5 OD] S0l oeen
1. %

2. ¢



About 4.5 billion years old
ord) 4.5 HOHS Jodk oeen

About 3.5 billion years old
oror) 3.5 HOADS JodE oeen

3. %
About 6.5 billion years old
eor) 6.5 HO0HS JodEorew
4. %

Question Number : 68 Question Id : 8321474668 Question Type : MCQ Option Shuffling : No
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Exogenous weathering agents are
::ﬂs’F;J 36ero 5OR0T SrETEen

Options:
Wind
1. % (e
Water
2. % S

Wind and water
MmO S08a%0 B

Lava

SPel®

4.

Question Number : 69 Question Id : 8321474669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The combined action of weathering, erosion and or transportation 1s
36ero, [EEobo, $8D0H oI HEheod 0T S8
-l 4] e, o o

Options :
Abrasion
| x TG
Attrition
&
2eo0es
2. %
Denudation
SOA0HE
3.
Exfoliation
s
4w ©RBED0

Question Number : 70 Question Id : 8321474670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the type of chemical weathering
SPaDR 3ol Hoodod

Options:

Hydrolysis

Lgﬁsﬁ&&-cﬁa’:-o
1. % >
Carbonation
- TS“QE&E
Grading
LB
[Beag)so



Hydrolysis and Carbonation
BSDF)EF0 HBH EHIRS
4. v

Question Number : 71 Question Id : 8321474671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which stage of River are water falls formed?
38 Do) @ BIS° wedrscow dEscan?

Options:
Old
- 2830
Mature
) x G
Youth
3 ¥ 52063

All stages

Q) St

Question Number : 72 Question Id : 8321474672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following rivers does not form a delta?
2.0(tH Food HBSD 56 267

Options :
Bramhaputra
ﬂ-\_""'L_:.-_-\-*"':\

u BTEE

2. ¥



Narmada
éé@{ﬁ

Godavan

- R8s
3. %
Krishna
<.
4, % o

Question Number : 73 Question Id : 8321474673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the geological action of glacial weathering
D FTRBE S8 S0 BHegorr BHPEotrEd?
Options :

Spheroidal weathering
R*e°s28 3Hexo

1. %

Sedimentation
oS

- &éau..ﬂ
Avalanching
Hoarso

3. ¢
Exfoliation
LABESo

4, ®
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The geological formation which is permeable and also porous is
D TREQY 23025@0@‘? arSrHES Ba JYES dotron?

Options:
Aquifer
2203000 38
1.4
Aquifuge
Eaviemans
5 @ @uw%ﬁuw
Aquiclude
20Q8°EE JBen
3. %
Aquitard
©&erd
4. % -

Question Number : 75 Question Id : 8321474675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Choose the primary cause of formation of springs in limestone terrains
R Hoeond® ﬁ:’ﬁmféa:o OEEPRB Ko [ o

Options :
Glacial erosion

L AR
1 % T RTON) Ic_.m.JinOD

Faulting
gdodo

Solution of rock by groundwater

v IrrgeEeo Ho8 dermeideo



Volcanic activity

L of) wii’l*’;.@‘éo

Question Number : 76 Question Id : 8321474676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Stalactites and Stalagmites are examples of
58 Hbdw Fohdden IEE amrdeden?

Options:
Depositional landforms
1.4

Erosional landforms
gﬁe&;@ﬂa ALl DL wil DY

2. %
Aeolian landforms
. OHh008 2rdraren
3.
Lacustrine landforms
. QB Dogod rdraren
4.

Question Number : 77 Question Id : 8321474677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Choose the landform formed due to marine erosion
JS0EHVE BEHgoho Sod G grdmaren

Options :
Cirques
- SroNTEeD

2. ¢



Headlands and bays
r&erof) Hdasn TR

Horns

A Y

Morains

Ea:ocmE{-:

Question Number : 78 Question Id : 8321474678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the depositional landform formed due to wind action
™o S0l :aq;.a & Qgaren

Options :
Arete
- wd&
Tombolo
, x LOTE
Playas
STovut)
3.¢¥
Horns
~/'. =. -
4w &

Question Number : 79 Question Id : 8321474679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Plate tectonics results 1n
DT DLresee o8 JoFDODIO



Options :
Ox-bow lake
%ﬁ:ﬁaﬂcﬁ SlsTSv)

1. %
Mountain-building
Horsren ABVEEO
Morains
0B

3. %
Karst topography
A R
=8 RS

4. %

Question Number : 80 Question Id : 8321474680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The point where movement occurs that which triggers the earthquake 1s
siveletylow @&@Soa (a0

Options :
Dip
[ =)
| % D&
Epicenter
Al A
L G503 So(tSo
Focus
g
3. FPER

Axis point
#R\ - 5
Clefllelavhy)



Question Number : 81 Question Id : 8321474681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A volcano that 1s currently erupting is
LTHRK0 TR VDB E O DX0LTE?
o - o

Options :
Extinct
woS8oR
1, %

Dormant

, % SEEes
Active
3 v Bosrde
Inactive
Qipcho
4, ® -

Question Number : 82 Question Id : 8321474682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The maximum number of space lattices 1s found 1n
QEND ©oSBY WOTPED JOS® GoLron?

Options :

Hexagonal system

[ 4

AN e
ey uaassbég

1. %
Orthorhombic system
DARTE HeND
b, o q_'|
2. ¥



Tetragonal system
S8 X 5%

Cubic system
QDIPE 3D
4. % H A

Question Number : 83 Question Id : 8321474683 Question Type : MCQ Option Shuffling : No
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Which of the following systems has all closed forms?
D QO HBHS° VoS Eraren sotron?
b

Options :
Monochnic
BN

1. %

Trichmic

2. % &3
Cubic
S Pebite]

3. -
Trigonal
@ﬁ‘fm‘?

4, ®

Question Number : 84 Question Id : 8321474684 Question Type : MCQ Option Shuffling : No
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How many crystal classes do not possess a centre of symmetry?
A )L SBHBHOL DHUFS TR0 60k’

Options :



._.
N

1.%

16
2.¢¥

)
3. %
4 % 18

Question Number : 85 Question Id : 8321474685 Question Type : MCQ Option Shuffling : No
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How many crystal classes are in Orthorhombic crystal system?
DRI, DS YNNG QY DT SLridhen @otron?
= ] Y

-
=

Options:
6

Question Number : 86 Question Id : 8321474686 Question Type : MCQ Option Shuffling : No
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A crystal form consisting of only one face 1s
OE Y rone &L Erdo

Options :
1.¢



Pedion

DESTS
Sphenoid
Serons

2. % ¥
Dome
3 % Sodo

Basal pinacoid
06 Hscons

Question Number : 87 Question Id : 8321474687 Question Type : MCQ Option Shuffling : No
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The crystal form having maximum number of faces 1s
) *&’};}-&ﬁ@é QLD ) tEren otran?

Options :

Cube
o
Sk}

Prism
Heyso
[}

Hexoctahedron

-\AaFP.'E
CJSED
3.¥ -

Pyramid

o

4 % edIE T



Question Number : 88 Question Id : 8321474688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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System having only Planes of symmetry 1s

3 ;55,55%@’5 go Y0 IS Sotkh?

Options :

Tetragonal
G vl

1. %

Orthorhombic

L

Monochnic
DBRS

Triclinic
(b

Question Number : 89 Question Id : 8321474689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Which of the following 1s NOT a defining characteristic of a mineral?
Bod &S S S0 B AB?

Options :
Organic
BER

e 59
Inorganic
Dlsleyty

2. % =

3. %



Definite chemical composition
SISERLS BN S0

Naturally occurring

QD pgore wdodd
4. % &

Question Number : 90 Question Id : 8321474690 Question Type : MCQ Option Shuffling : No
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Minerals which are attracted by a magnetic field are
©0LIR0SZ (S0 DY %8050t plerel D00eFH?

Options :
Ferrimagnetic
=, =
B 5&7:' \:e:ju

| x DOEE

Ferromagnetic

2(6° So&E
2 PO Y

Paramagnetic
&8 Ser&E

3. %
Diamagnetic
Ko S B E
4 % EAPIerHES

Question Number : 91 Question Id : 8321474691 Question Type : MCQ Option Shuffling : No
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Fluorite's hardness on the Mohs scale 1s
F0FET Bosrdos® §83eT TnY) 58358

Options :
1. %



|
2.% <
3% 3

4
4.9

Question Number : 92 Question Id : 8321474692 Question Type : MCQ Option Shuffling : No
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Breakage of a mineral along its crystallographic plane 1s

28 pzo T NS SHswo Joud HADS

Options:

Cleavage

DEEFISW

Fracture

q"’:r‘i:%ijg

2. %
Lustre

&3

3, % cﬁ”
Hardness
=

4w EOHSeS
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A muneral that can crystallize in two or more different forms with the same

chemical composition 1s
o8 G0, a3 BRrabi 305058° Both B8 wodsT) IS Srared’
9088800 4BAS ©b-

Options :
[somorphism
ErH8S 080

1. % =
Asymmetry

nETR YA S

. ©RPRS0
Polymorphism
08PN

3.¢
Symmetry

, RPHD0

Question Number : 94 Question Id : 8321474694 Question Type : MCQ Option Shuffling : No
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What 1s the basic structural unit of silicate minerals?
0028 20 @J:ﬁ; S0 R@éeao eiio B?
Options :
(S10)4

1. %

(Si0y),
2.V

(5102)2
3. %

(S103)3



Question Number : 95 Question Id : 8321474695 Question Type : MCQ Option Shuffling : No
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Which of the following 1s an example of a sheet silicate?
Dol WOTEN ariedn

Options :

Feldspar
5

Zeolite
ﬁ@wgﬁf

Asbestos

OSBLS
=]

Question Number : 96 Question Id : 8321474696 Question Type : MCQ Option Shuffling : No
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Chemical composition of calcite 1s
:v;f?gef &%), BPCHS Joedo

Options :
CaSOy

1. %

CaCQOs

2. ¥

CaCl,
3. %



CaOH,
4, %
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Which of the following minerals is known for its high refractive index?
£ s Mo =
©h8 JEPINheeto EOAY pleo 2b?

Options :
Quartz
=0

w0

1. % "

Muscovite

2. %
Diamond
G308 (S(0)
3.v
Feldspar
Blategls
a.%

Question Number : 98 Question Id : 8321474698 Question Type : MCQ Option Shuffling : No
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Nicol prism 1s made up of
Jerd HZo BAS® SASr TaR?

Options :

Calcite
sendh ed
2) -l

1.¢



Mica

0T
2.%
Quartz
=0
oJED
3. % a
Baryte
20T
4. % =
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Correct Marks : 1 Wrong Marks : 0

Which of the following mineral exhibits pleochroism?
DBBBRBH0 (565803 Pleo IB?

Options:

Calcite
-~ " a5

L« TR
Quartz
=5

2% B
Feldspar
298

3. % i
Biotite
DTrEET

4. &
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What type of mineral exhibits the same refractive index in all directions?
=& & :
2.5 5PN JEYRN hes) oY B36° (58B0T o @), B0

Options :

Diaphathic
efovvvlals)

Pleochroic
égéﬁégéo

Isotropic
RPETHE

Anisotropic

, x SITHE





